Question 2. Prove that

a’sin(B—C)  b?sin(C — A) N ¢?sin(A—B)
sin B + sinC sinC + sin A sinA+sinB

Solution.

a’sin(B—C)  4R? sin? Asin(B — O)

sinB+sinC sin B+ sin C
_ 4R%sin Asin(B + C)sin(B — C)
N sin B+ sin C
4R?sin A(sin2 B — sin? C’)
N sin B - +sinC
= 4R?sin A(sin B — sin C)
Similarly,
b?sin(C — A) 5> . . .
SnC 1smd 4R* sin B(sin C — sin A)
and
c*sin(A — B)
ATy 2 . in A —sin B
SnA T snB R? sin C(sin sin B)

Adding, we get

a’sin(B—C) b?sin(C — A)

sin(A—B)

sin B+ sinC sinC + sin A

sind+sinB



